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Question Number : 1 Question Id : 70819118664 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one is labelled as Assertion A and the other is labelled as

Reason K.

Assertion A : The escape velocities of p[anet A and B are same. But A and B are of unc-qua[

mass.

Reason R : The product of their mass and radius must be same. M;R; = M;R,

In the light of the above statements, choose the most appropriate answer from the options

given below :

Options :

70819161141, Both A and R are correct and R is the correct explanation of A

70819161142. Both A and R are correct but R is NOT the correct explanation of A

70819161143. A is correct but R is not correct

70819161144,

A is not correct but R is correct

Question Number : 1 Question Id : 70819118664 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 2 Question Id : 70819118665 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List - I with List - II :

List - 1 List - 11
(a) h (Planck’s constant) i MLT-Y
(b) E (kinetic energy) (i) ML2T™]
() V (electric potential) (iii) ML2T-2

(d) P (linear momentum) (ivy ML21-1T-3]
Choose the correct answer from the options given below :

Options :
70819161145, (@) — (i), (b) — (ii), (c) — (iv), (d) — (iii)

20819161146, (@ — (i), (b) — (iv), (c) — (ii), (d) — (i)

20819161147, (@ = (i), (b) = (i), () — (v), (d) — (i)



70819161148, (@) —= (i), (b) — (ii), (c) — (iv), (d) — (i)

Question Number : 2 Question Id : 70819118665 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

20819161145, @ = @ (b) = (i), () = (i), (d) — (i1)

20819161146, (&) = (iii), (b) = (iv), (¢) — (ii), (d) — (i)

70819161147. (a) — (i1), (b) — (iii), (c) — (1v), (d) = (1)

70819161148, (@) — (iii), (b) — (ii), (¢) — (iv), (d) — (1)

Question Number : 3 Question Id : 70819118666 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[f the time period of a two meter long simple pendulum is 25, the acceleration due to gravity
at the place where pendulum is executing S.H.M. is :

Options :

4 2
70819161149, 16 m/s



70819161150, ™ ms ?

70819161151, 9-8 ms™ =

3 )
70819161152, 27 ms =

Question Number : 3 Question Id : 70819118666 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819161149, 16 m/s=
70819161150, @~ MS

70819161151, -5 ms

-

70819161152, 27 ms

Question Number : 4 Question Id : 70819118667 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A student is performing the experiment of resonance column. The diameter of the column
tube is 6 cm. The frequency of the tuning fork is 504 Hz. Speed of the sound at the given
temperature is 336 m/ s. The zero of the metre scale coincides with the top end of the resonance
column tube. The reading of the water level in the column when the first resonance occurs
is:



Options :

70819161153, 0-6 €M

70819161154, 184 cm

70819161155, 148 cm

70819161156, 1 €M

Question Number : 4 Question Id : 70819118667 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819161153, 10:6 cm

70819161154, 104 cm

70819161155, 148 cm

70819161156, =~ “™

Question Number : 5 Question Id : 70819118668 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



In an octagon ABCDEFGH of equal side, what is the sum of

e T S
AB +AC + AD + AE + AF + AG + AH,

— A A M
if, AO=2i+3 -4k

A B
I C
G D
F E
Options :
.z:_ _z._._ r} .__,_:
70819161157, 101124 j+32k
70819161158, —161 24 j+32k
70819161159, 107 ~24j+32k
16 pl A‘_ 7 A
70819161160, 101124732k

Question Number : 5 Question Id : 70819118668 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
A

A A
70819161157, 101 T247+32k



5 M A
70819161158, ~ 10124/ +32k

Fal Fa Ay
167 —24 j+32k
70819161159. '

M oy My
167 +24 j—32k
70819161160.

Question Number : 6 Question Id : 70819118669 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two satellites A and B of masses 200 kg and 400 kg are revolving round the earth at height
of 600 km and 1600 km respectively.

If TA and TB are the time pr_-riods of Aand B respectivel}-' then the value of TB—TA ’

[ Given : radius of earth=6400 km, mass of earth=6x10* kg |
Options :
<
70819161161, 1:33% 107 s

A4 2 K
70819161162, +24% 107 s

)
70819161163, +:24x107 s

2
70819161164, >33 %107 s



Question Number : 6 Question Id : 70819118669 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819161161. 1.33 % 10%s

70819161162, 324> 107s

Ml w102
70819161163, 24> 10%s

70819161164, -3 % 10%s

Question Number : 7 Question Id : 70819118670 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A5 V battery is connected across the points X and Y. Assume D; and D, to be normal silicon
diodes. Find the current supplied by the battery if the +ve terminal of the battery is connected
to point X.

Dy 100
";..JI AN
D
% 510)
A 4'4"L",
X Y
Options :
70819161165, ~ 02 A
70819161166, ~ 043 A
70819161167, ~ 086 A
70819161168, ~ 12 A

Question Number : 7 Question Id : 70819118670 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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70819161165, ~ U2 A

70819161166, ~ 33 A

70819161167, — U.B6 A

70819161168, ~ 1.9 A

Question Number : 8 Question Id : 70819118671 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I : A speech signal of 2 kHz is used to modulate a carrier signal of 1 MHz. The
bandwidth requirement for the signal is 4 kHz.

Statement Il : The side band froquoncies are 1002 kHz and 998 kHz.

In the light of the above statements, choose the correct answer from the options given below :

Options:
70819161169. Both Statement I and Statement 11 are true

70819161170. Both Statement | and Statement 1l are false

20819161171 Statement 1 is true but Statement 1I is false

70819161172. Statement 1 is false but Statement 1l is true

Question Number : 8 Question Id : 70819118671 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 9 Question Id : 70819118672 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two slatements : one is labelled as Assertion A and the other is labelled as
Reason R.

Assertion A : When a rod lying freely is heated, no thermal stress is developed in it.
Reason R : On heating, the length of the rod increases.

In the light of the above statements, choose the correct answer from the options given below :

Options :
70819161173, Both A and R are true and R is the correct explanation of A

70819161174. Both A and R are true but R is NOT the correct explanation of A

70819161175. A is true but R is false

20819161176, ‘\ s false but R is true



Question Number : 9 Question Id : 70819118672 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 10 Question Id : 70819118673 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The current (i) at time t=0 and t= = respectively for the given circuit is :

5 {} 511
M

10 410
————— GG o0 O




Options :

18E SE

70819161177, 2 18
S5E 18E

70819161178, 18 55

106 SE

70819161179, - 18

'5E 10E

70819161180, 18 33

Question Number : 10 Question Id : 70819118673 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

I8E SE
70819161177. 55 18

oF 18E
70819161178. 18" 55

10E SE
70819161179. 33 18



S5E 10E
70819161180, 18 33

Question Number : 11 Question Id : 70819118674 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The pitch of the screw gauge is 1 mm and there are 100 divisions on the circular scale. When
nothing is put in between the jaws, the zero of the circular scale lies 8 divisions below the
reference line. When a wire is placed between the jaws, the first linear scale division is clearly
visible while 72" division on circular scale coincides with the reference line. The radius of
the wire is :

Options :
70819161181. 1.64 mm
70819161182. 0.90 mm

70819161183, UV-82 mm

70819161184, 1:80 mm

Question Number : 11 Question Id : 70819118674 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819161181, -0 mm

70819161182, .90 mm



70819161183, .52 mm

70819161184, 1.B0 mm

Question Number : 12 Question Id : 70819118675 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ana particle and a proton are accelerated from rest by a potential difference of 200 V. After
'hp
tMaﬂmﬁde&vﬁkwmmbgmsmeMﬁmdﬁgmpmmm@JMQmﬁoI—B:
i

Options :

70819161185, 2.8

70819161186.

1
oo

70819161187.

70819161188. 3.8

Question Number : 12 Question Id : 70819118675 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o S . - e G : L e
Vol Vrall 95 L (potential difference) ($fasbd 200V e pie/bs)day Llali o
3 :\P | = el )|k E
¥ ) o }'i}_l N e/ VP00
1

Options :

2.8
70819161185.



70819161186,

70819161187, 78

70819161188, -8

Question Number : 13 Question Id : 70819118676 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two coherent Iight SOUICes having intensity in the ratio 2x produce an interference pattern.

The ratio 22— will be :
max | min
Options:
{2y
Do ]

70819161189, =¥ *+1

70819161190.

+ 2x

70819161191, * 11

"
v2x

70819161192, **1

]

Question Number : 13 Question Id : 70819118676 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

- I1‘I‘I’d‘.\{_|1‘I'IfTI . |2 p - .
= 1= ol | = "}-L- / - g N

L i - A | - ! | a
T Byl WAL LTRSS VAL 10 R VOl RN B T T

Imax +Imin



Options :

W

70819161189, 2x+1

2.J2x
70819161190, 2x+1

N 2x
70819161191, x+1
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70819161192, *+1

Question Number : 14 Question Id : 70819118677 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

An engine of a train, moving with uniform acceleration, passes the signal-post with velocity
u and the last compartment with velocity v . The velocity with which middle point of the
train passes the signal post is :

Options :
U+

70819161193, 2

U—U
70819161194, 2

| = -

[0 +u"

V2
70819161195. 2

[ 2 2

[0° —1u

V" 2
70819161196.



Question Number : 14 Question Id : 70819118677 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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70819161193.
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70819161194, 2

70819161195, V2

|
70819161196, | 2

Question Number : 15 Question Id : 70819118678 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A proton, a deuteron and an « particle are moving with same momentum in a uniform
magnetic field. The ratio of magnetic forces acting on them is and their speed is
, in the ratio.

Options :

I~

70819161197. 421 and 211

1:1and 4 :

-2
=i

70819161198, 2

I3
]

70819161199, 1:2:4and 1:1:



=2 -4, o
70819161200, 2 4and 2:1:1

Question Number : 15 Question Id : 70819118678 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819161197, =2 11 0 4:2:]
70819161198, 1 2L 4 210
20819161199, 1:1:2 s 1:2:4
70819161200, 2:1:1 » 1:2:4

Question Number : 16 Question Id : 70819118679 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Magnetic fields at two points on the axis of a circular coil at a distance of 0.05 m and 0.2 m
from the centre are in the ratio 8 : 1. The radius of coil is

Options :
70819161201, 01 m
70819161202, 019 m

70819161203, V-2 m



70819161204, 10 m

Question Number : 16 Question Id : 70819118679 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819161201, -1 m
70819161202, U-15m

70819161203, V-2 m

70819161204, UM

Question Number : 17 Question Id : 70819118680 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The angular frequency of alternating current in a L-C-R circuit is 100 rad/s. The components
connected are shown in the figure. Find the value of inductance of the coil and capacity of
condenser.

R=601)

—PAAARANA

15V
F=40(

E=—1bY A=l Lg20V

o— 1

Options :

70819161205. 1.33 H and 250 pF



70819161206. 1.33 H and 150 pF

70819161207. 0.8 H and 150 pF

P 'j. 5
70819161208, -8 H and 250 uF

Question Number : 17 Question Id : 70819118680 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

#
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R=601)
——AWARAS
15V
P
c—t1y X=08% gy
P |
L)
Options :

70819161205, 22U ub .+ 1.33 H
70819161206, 120 ub .+/ 1.35 H
150 uF .+ 0.8 H

70819161207.

70819161208, 220 ul 0.8 H

Question Number : 18 Question Id : 70819118681 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

. 5
A diatomic gas, having Cp =;R and Cy =;R, is heated at constant pressure. The ratio
dU:dQ:dW:

Options :

|
I3

70819161209, 2:

70819161210.

70819161211.

=]
[F5)

70819161212, 2

Question Number : 18 Question Id : 70819118681 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options:

70819161209, 272

70819161210, >:7:2

70819161211, 2

[

70819161212, 2:7:

Question Number : 19 Question Id : 70819118682 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Two radioactive substances X and Y originally have N and N, nuclei respectively. Half life
of X is half of the half life of Y. After three half lives of Y number of nuclei of both are equal.

The ratio N— will be oqual to:
Ny

Options :

r—'-|',-J.

70819161213.

_,_}|,_1'

70819161214.

70819161215.

70819161216. 8

Question Number : 19 Question Id : 70819118682 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

. - - -
'.. | = W aF T - w R P TR Y, e
h"-rt e \[ 2]} HE"'H-:""'IF K Vel == [\1 Ml [\l -.'-:_-""r.‘l_.v" Jb!,‘/ﬂgqlmlgq yrl K ,'#lr"b.-'l.'.'.:':.f.'

f‘]| = w -

.-' ,-'

| | - i 2 (IS L . :
u:-*":" \_: Nz ._.,'_,'L_,_:I,;;'_‘!":;!,.J'fl_,\.‘\_:b!__ -'Ju——, |r'.- “ _Jv‘..__n_.-‘:.-u h..-'-"‘n_( —_— \l ol - h.-'-""" ‘
Nt

- A

Options :

= | G

70819161213.

70819161214, 2



el e

70819161215.

70819161216. 8

Question Number : 20 Question Id : 70819118683 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A solid sphorr_- of radius R gravitaﬁona[l}-' attracts a particle placr_-d al 3R from its centre with

.
A"
a force F,. Now a spherical cavity of radius | = | is made in the sphere (as shown in figure)
] 3]

and the force becomes F,. The value of F, : F, is

Options :
70819161217, 1150
70819161218, 20 * 41

70819161219, 36: 2

25 - 36
70819161220. e

Question Number : 20 Question Id : 70819118683 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819161217, 31130

70819161218.
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70819161219, 0

70819161220, =°

Physics Section B

SectionId:

Section Number :
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Number of Questions :

Number of Questions to be attempted :

Section Marks :
Mark As Answered Required? :
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Online
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20
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Sub-Section Id : 7081911065

Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 70819118684 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A monoatomic gas of mass 4.0 u is kept in an insulated container. Container is moving with
velocity 30 m/s. If container is suddenly stopped then change in temperature of the gas

X
— - e — \J: f v 1
(R=gas constant) is R Value of xis

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 21 Question Id : 70819118684 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 22 Question Id : 70819118685 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

512 identical drops of mercury are charged to a potential of 2 V each. The drops are joined to
form a single drop. The potential of thisdropis V.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 22 Question Id : 70819118685 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819118686 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A coil of inductance 2 H having negligible resistance is connected to a source of supply
whose voltage is given by V=3t volt. (where t is in second). If the voltage is applied when
t=0, then the energy stored in the coil after4sis .

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 23 Question Id : 70819118686 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 24 Question Id : 70819118687 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A small bob tied at one end of a thin string of length 1 m is describing a vertical circle so that
the maximum and minimum tension in the string are in the ratio 5 : 1. The velocity of the bob
at the highest positionis ____ m/s. (Take g=10 m/ 53]

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 24 Question Id : 70819118687 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 25 Question Id : 70819118688 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The potential energy (U) of a diatomic molecule is a function dependent on r (interatomic
distance) as

where, a and p are positive constants. The equilibrium distance between two atoms will be

d
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where a=

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 25 Question Id : 70819118688 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819118689 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

— / k) A A
Theelectric field in a region is given by E = | —E; i i Eyjf
L2 3 ]

% The ratio of flux of rr_-ported
J

field through the rectangular surface of area 0.2 m? (parallel to y—z plane) to that of the
surface of area 0.3 m? (parallel to x—z plane) is a:b, wherea=___

[Here { , if and k are unit vectors along x, y and z-axes respectively]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 26 Question Id : 70819118689 Question Type : SA



Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819118690 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A transmitting station releases waves of wavelength 960 m. A capacitor of 2.56 pF is used in
the resonant circuit. The self inductance of coil necessary for resonance is
x10~8 H.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 27 Question Id : 70819118690 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819118691 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The same size images are formed by a convex lens when the object is placed at 20 cm or at
10 cm from the lens. The focal length of convexlensis ___ cm.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 28 Question Id : 70819118691 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 29 Question Id : 70819118692 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In a certain thermodynamical process, the pressure of a gas depends on its volume as KV,
The work done when the temperature changes from 100°C to 300°C willbe _______nR,
where n denotes number of moles of a gas.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 29 Question Id : 70819118692 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 30 Question Id : 70819118693 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

In the given circuit of potentiometer, the potential difference E across AB (10 m length) is
larger than E, and E, as well. For key K, (closed), the jockey is adjusted to touch the wire at
point ], so that there is no deflection in the galvanometer. Now the first battery (E, ) is replaced
by second battery (E,) for working by making K, open and K, closed. The galvanometer

’ LI By, @
gives then null deflection at ]2. The value of l_l is E ,wherea=_
7]

Rh J,¢—60 cm—>
P
B': Im 3

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 30 Question Id : 70819118693 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
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Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Chemistry Section A
SectionId: 708191786
Section Number : 3
Section type : Online

Mandatory or Optional : Mandatory



Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required? : Yes
Sub-Section Number : 1
Sub-Section Id : 7081911066
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 70819118694 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The plots of radial distribution functions for various orbitals of hydrogen atom against “r’ are
given below :

The correct plot for 3s orbital is :
Options :
70819161231, (A

70819161232, (B)

70819161233, (©)



70819161234, (D)

Question Number : 31 Question Id : 70819118694 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

70819161231, (A)



70819161232, (B)

70819161233, (C)

70819161234, (P)

Question Number : 32 Question Id : 70819118695 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

According to molecular orbital theory, the species among the following that does not exist is :

Options :

Oy
70819161235.

70819161236, | 1e2

70819161237, B2

He,'
70819161238,

Question Number : 32 Question Id : 70819118695 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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70819161237, €2
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Question Number : 33 Question Id : 70819118696 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The solubility of AgCN in a buffer solution of pH=3 ils x. The value of x is :
[Assume : No cyano complex is formed ; K, (AgCN) =22x10"1¢ and K (HCN) =6.2x 10~ 10

SP B

Options :

; " )
70819161239, 0-625x10

70819161240, 1:6>10°°

-3
I3

. 16
70819161241, 2.2x 107

(o 5
70819161242, 1.9 %10

Question Number : 33 Question Id : 70819118696 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

70819161239, 062510 °



70819161240, L-0*10°°
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70819161241, 22x10 10

70819161242, 1.9x 107

Question Number : 34 Question Id : 70819118697 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Xlis

m

In Freundlich adsorption isotherm at moderate pressure, the extent of adsorption

directly proportional to P*. The value of x is :
Options :

70819161243. 1

70819161244, Z¢1°

70819161245,

3

70819161246,

Question Number : 34 Question Id : 70819118697 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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70819161243, 1



£ero

70819161244.

70819161245. -~

1
70819161246,

Question Number : 35 Question Id : 70819118698 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Ellingham diagram is a graphical representation of :
Options:

70819161247, AG vs T
70819161248, AHvs T

70819161249, AG vs P

70819161250.

Question Number : 35 Question Id : 70819118698 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

AGws T
70819161247.

AHvs T

70819161248.



70819161249, AG vs P

70819161250, (AG —145) vsT

Question Number : 36 Question Id : 70819118699 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Which of the following equation depicts the oxidizing nature of H,O, ?
Options :

70819161251, KO+ H,0, — KIO; +H,0 40,

2 ¥ .
70819161252, | BACRE RS Sx AT £ 2H0k Y

t
70819161253, 2 TH,0, +2HT — 1, + 2H,0

- 2
70819161254, 2t H0, = 2HA O,

Question Number : 36 Question Id : 70819118699 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

0, + H,O, — KIO, - O+,
20819161251 KIO,; + H,O5; — KIO; + H,O+ 0O,

. 55 + 20 2 + 2H-O+ 0~
20819161252, ,+H-0,+20H" — 21" +2H,0+0,



) b } ]
20819161253, 21 T H0:+2HT =15+ 2H,0

: - - -}_.‘ 2 : -]_J
70819161254, 2T H202 = 2HU 40,

Question Number : 37 Question Id : 70819118700 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The correct statement about B5H is :
Options :

70819161255, All B—H—B angles are of 120"

70819161256. The two B—H—B bonds are not of same length.
70819161257, lerminal B—H bonds have less pcharacter when compared to bridging bonds.

70819161258, s fragment, BH; , behaves as a Lewis base,

Question Number : 37 Question Id : 70819118700 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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70819161258 L L6 Lewis base 2o s BH;

Question Number : 38 Question Id : 70819118701 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I~ :  CeO, can be used for oxidation of aldehydes and ketones.
Statement 1 : Aqueous solution of EuSO, is a strong reducing agent.

In the light of the above statements, choose the correct answer from the options given below :

Options:

70819161259, Both Statement I and Statement 1I are true

70819161 260. Both Statement I and Statement Il are false

70819161261. Statement | is true but Statement 1l is false

70819161262. Statement 1 is false but Statement Il is true

Question Number : 38 Question Id : 70819118701 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 39 Question Id : 70819118702 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In which of the following pairs, the outer most electronic configuration will be the same ?
Options :

70819161263. V> and Cr'

70819161264, Cr* and Mn?!

70819161265, Ni*" and Cu’

1.2+ ~ _ 4
70819161266, Fe~ and Co

Question Number : 39 Question Id : 70819118702 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
70819161263, Cr -/ V=

70819161264, Mn= ' Cr



70819161265, 1+ INI-

Co" s Fe2”
70819161266.

Question Number : 40 Question Id : 70819118703 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The hybridization and magnetic nature of [Mn(CN);]*~ and [Fe(CN)|* ", respectively are :

Options :

20819161267, 4sp® and paramagnetic

70819161268 Spadz and diamagnetic

70819161269 d’sp? and diamagnetic

T S o :
70819161270. spd- and paramagnetic

Question Number : 40 Question Id : 70819118703 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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20819161269 d?sp? and diamagnetic (™~ 13
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Question Number : 41 Question Id : 70819118704 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement I :  An allotrope of oxygen is an important intermediate in the formation of
reducing smog.

Statement 11 :  Gases such as oxides of nitrogen and sulphur present in troposphere
contribute to the formation of photochemical smog.

In the light of the above statements, choose the correct answer from the options given below :

Options :
70819161271. Both Statement | and Statement Il are true

70819161272. Both Statement I and Statement 11 are false

70819161273. Statement 1 is true but Statement 1l is false

70819161274. Statement 1 is false but Statement 11 is true

Question Number : 41 Question Id : 70819118704 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Question Number : 42 Question Id : 70819118705 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Complete combustion of 180 g of an oxygen containing compound (C,H,0,) gave 2.64 g of
CO, and 1.08 g of H,O. The percentage of oxygen in the organic compound is :

Options:

70819161275, 20-33

70819161276, 53.33

70819161277, ©3.53

70819161278, 21.63



Question Number : 42 Question Id : 70819118705 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

et-bn b COy 264 g 4 HO LOB g Feetr i1} 180 g (CH,0,) A7 T

S v ol

Options :

70819161275, V.33

(9] |
Tl
L
s

70819161276.

70819161277, 63.23

o
[ty
=)
L

70819161278. 2

Question Number : 43 Question Id : 70819118706 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Idc-ntif}-' A in the given chemical reaclion.

_~CH;
CH Mo,O o
2 CH, 203 RN
L . ~~ 7 773K,10-20atm  major product
3
H‘CHE'/ \“CI—I3
Options :
70819161279. :
CHs,

70819161280.



70819161281. :
70819161282. :

CH;,

Question Number : 43 Question Id : 70819118706 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

-

Zé_;.:.»“ 20 AN “‘.,_:I.rf : 32 A
_~CHs
CH Mo,O i
| 2 CH, 3 A
x” 773 K, 10-20 atm y;f'b,fl
“\ / ‘\ CH
CH, 3
Options :
70819161279.
70819161280.

70819161281.

O/CH
70819161282.



Question Number : 44 Question Id : 70819118707 Question Type

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Identify A and B in the chemical reaction.

— P o Al Nal o g
(major) dry acetone (major)
NO,
Options :
OCHj, I
Cl ]
r'*'L = H =
| NO
70819161283 NO; 2
OCH;,3 OCH,
Cl I
A= B =
NO, NO,
70819161284.
OCHj; I
A= B =
Cl Cl
NO, NO,
70819161285. -

70819161286.

: MCQ Option Shuffling : Yes



OCH, OCH,

Cl

NO,

Question Number : 44 Question Id : 70819118707 Question Type

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

=32 B A VB S
OCHj;
HCl (A] Nal _
- dry acetone
JLW'[‘I I s
NO,
Options:
OCH;4 I
al Cl
A= B =
NDE NGE
70819161283.
OCHj OCHj;
Cl I
A = B =
NO, NO;
70819161284.
OCHj, 1
A= B =
Cl c
NO, NGO,

70819161285.

: MCQ Option Shuffling : Yes



OCHj, OCH;

d

70819161286. NO» NO;

Question Number : 45 Question Id : 70819118708 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The major pmduct of the fnllnwing chemical reaction is :

1) HyOt, A
_ 2) SOCI,
CH;CH,CN > ?
3) Pd/BaSOy, H,

Options :

70819161287. G e Sl S

70819161288, (CHaCH,C0),0

H,CH,CH,

70819161289, ©

70819161290, “HCHCHO

Question Number : 45 Question Id : 70819118708 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

el B = o) L ; 5 L
o T & a P— . f W
R s P "?I'j:”'"-’ W WS UL oA

1) H;O+, A
2} SOCl,

CH;CH,CN > 7
3) Pd/BaSO,, H,




Options :

CH;CH,CH,OH
70819161287. : R

"H.CH,CO)-,0
70819161288. (L0 B0

CH,CH,CH,
70819161289, >

70819161290, < HCHO

Question Number : 46 Question Id : 70819118709 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which one of the following reactions will not form acetaldehyde ?
Options :

Pd(II)/ Cu(II)

CH2: CH: + 02
70819161291. HO

P CI’DB—ITEE‘ID;}
CH,CH,OH >

70819161292.

i) DIBAL-H
i) H,O

CH5;CN
70819161293,

u
CH@'CHE{JH —
70819161294 273K

Question Number : 46 Question Id : 70819118709 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



dl - & ] i~ L.
¢ Bn ,_,':‘._,P'-;f acetaldehyde = _,."*...,_._. WA i

Options :

PA(/Cu(th)

2

70819161291.

CI'03 = H2504
CH;CH,OH >

70819161292.

i) DIBAL-H

CH3CN —;
11) HED

70819161293.

Cu
CI'].BCI'IzGH W
70819161294,

Question Number : 47 Question Id : 70819118710 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Compound(s) which will liberate carbon dioxide with sodium bicarbonate solution is/are :

NH, COOH OH
NO, NO,
NH, NH,
OH NO,
Options :
70819161295, ‘* and B only
70819161296, = ™Y

70819161297, © and € only



70819161298, Bonly

Question Number : 47 Question Id : 70819118710 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

oL

£l e -‘:ﬁ.,_.:".’:z e Oyl arL '.,_:':,_',,-,-._,,f:.i,-jf-i._‘..,—fr_'_ e ) S
NH, COOH OH
NO, NO,
NH, NH,
OH NO,
Options :

70819161295, A and B only

70819161296, < °nly

70819161297. B and C only

70819161298, B only

Question Number : 48 Question Id : 70819118711 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following reaction/s will not give p-aminoazobenzene ?

NO,
. i) Sn/HCI
i) [INO,
iii) Aniline
NO,
" i) NaBH,
B ii) NaOH
iii) Aniline
NH,
c i) HNO,
- ii) Aniline, HCI
Options :

70819161299, “* only

70819161300, = ™Y

B only
70819161301. i

70819161302, +and B

Question Number : 48 Question Id : 70819118711 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



] ": - s " ".r"n'-' . | - .
¢ §U5 % p-aminoazobenzene o WSV UE L o

NO,
T i) Sn/HCI
ii) HNO,
iii) Aniline
NO,
if) NaOH
iii) Aniline
NH,
& i) HNO,
-— :
ii) Aniline, HCI
Options :
70819161299, ** only
70819161300, = 0

70819161301, B only

70819161302, <+ and B

Question Number : 49 Question Id : 70819118712 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which statement is correct ?

Options :
70819161303, Buna-N is a natural polymer.

70819161304. Buna-Sis a 5}-’11thcfic_ and linear thermosetting polymer.

70819161305, Neoprene is an addition copolymer used in plastic bucket manufacturing.



20819161306, S}Tnﬂmsis of Buna-S needs nascent OXy gen.

Question Number : 49 Question Id : 70819118712 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

-
[l el Ll o s =
Sy e b, Al

Options
70819161303, —< /~r-#~! Buna-N
20819161304, ~ ”;‘:;f} (thermosetting) f'é:’,-slj_r'-"‘__,;lrﬁ]h[nﬂ_g

I R

Lol L Lk 2e (copolymer) gLl Neoprene

’_.,I:,_..#
70819161305, ~< "I

k= P

- f '--l-f I‘f -
& (¥ A% nascent uxu-'gun_,i'. —z /  Buna-5

70819161306. -

Question Number : 50 Question Id : 70819118713 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the glycosidic linkage between galactose and glucose is present in lactose ?
Options:

70819161307, ©-1 of galactose and C—4 of glucose

70819161308. C-1 of galactose and C-6 of glucose

70819161309, C-1 of glucose and C—4 of galactose



70819161310, <1 of glucose and C-6 of galactose

Question Number : 50 Question Id : 70819118713 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

g 1 -

™ 3 ey Tl ; vl o e orl
P PbOl (linkage) =) glycosidic(f2e/ 2oL (galactose) J r“"’,-st-:..v{,i'. i.#7 (Lactose)

Options :
70819161307 C-1 of galactose and C-4 of glucose

C-1 of galactose and C-6 of glucose
70819161308. ) )
20819161300. C-1 of glucose and C-4 of galactose

C-1 of glucose and C-6 of galactose
70819161310.

Chemistry Section B

SectionId : 708191787
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5
Section Marks : 20
Mark As Answered Required? : Yes
Sub-Section Number : 1

Sub-Section Id : 7081911067



Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 70819118714 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

N
0.4 g mixture of NaOH, Na,CO, and some inert impurities was first titrated with ﬁ HCl

using phenolphthalein as an indicator, 17.5 mL of HCI was required at the end point. After
this methyl orange was added and titrated. 1.5 mL of same HCI was required for the next
end point. The weight percentage of Na2C03 in the mixtureis . (Rounded-off to
the nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 51 Question Id : 70819118714 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

- e N B . i ke A " - -~ o i .
#\& — HCl 2 phenolphthalein & sl b 224 a7 04 g & NaOH .ol Na,CO;,

ST s A 17 e - | 3%aasyler
¢ HCI (141 | methyl orange s L 16k 175 mL § HCl &L 716UV titrate

_!1.;:' ) v‘i' 3 -
[V,: R PRV r

)-ce i S NayCOs e 2Tl Ka65 T8 15 ml
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 52 Question Id : 70819118715 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

A car tyre is filled with nitrogen gas at 35 psi at 27°C. It will burst if pressure exceeds 40 psi.
The temperature in °C at which the car tyre will burstis . (Rounded-off to the
nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 52 Question Id : 70819118715 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

- ; ( b - ‘ iy s ‘- _: v i (5 ] = v & .-'rl . A A L o

WL :;-.:f-:-krlf_-.uf,’».r'.-.ggb;:...» 40 psi 32/l 30 psifQ AUy b A bl 27°C
a = e

oo [l b il

(#ql'_m‘_',‘-. ,’.f_;,.f,] o] Lrl’._'.{(,: ()

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 53 Question Id : 70819118716 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



The reaction of cyanamide, NH,CN, with oxygen was run in a bomb calorimeter and AU
was found to be —742.24 k] mol "%, The magnitude of AH,qq for the reaction

S 3 _ .

[Assume ideal gases and R=8.314 ] mol "1 K 1]

is ___kK]. (Rounded off to the nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 53 Question Id : 70819118716 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

L e o o

$ AU sl JJSISALL T Cyanamide NH,CN,, ~ (Bomb Cdlurnuuter}.?'i'j,-yé‘:

¢ Mg eaf -74224 K mol -1 dedhed
kj  NH)CNg) + Eom 2 Nagg) + Oy + Hy Oy
(R=8314] mol-1 K- Lai¥ )
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText
Possible Answers :

5 to 5.001

Question Number : 54 Question Id : 70819118717 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



1 molal aqueous solution of an electrolyte A3B3 is 60% ionised. The boiling point of the solution
atlatmis K (Rounded-off to the nearest integer)

[Given K, for (H,0)=0.52 K kg mol ]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 54 Question Id : 70819118717 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

i '-'-' = - &_\ et [ 1 3 B ¥ o o Y . ,,Ifﬁ -~
.'.ai‘_,l)g_ i/ )-eK VEE BV Prmarl 160% o] (molal) &1 J2
Gy for (H,0)=052K kg mol~1: U Ls) (&

(K, for (H,0)=052K kgmol~1: /1) (Y

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819118718 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
[n basic mediuml{_'r{k}.l2 oxidises .Ssz to form lg{}f and itself changes into .L'r({}] D)y -

The volume of 0.154 M Cr(’.}f required to react with 40 mL of 0.25 M 52{')32 is

mL. (Rounded-off to the nearest integer)

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 55 Question Id : 70819118718 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

i . . —_ . — o e ; . -
"iie s Cr(OH)y MBS0 oo b/ a $,05 st GO

u_.-'.:— -"L- ':;"T ', — v v.-«.:_
T | s+ Fif= P _ 2— PR I
of At ) e S8 /AL 40mL £ 025M 8,05 wlnfely €Oy
(s}
v,--r.,#'h

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819118719 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

1
For the reaction, @A +bB — cC+dD, the plot of log k vs T is given below :

T slope =—10000 K

log k
W
The temperature at which the rate constant of the reaction is 10 el . K

(Rounded-off to the nearest integer)

[Given : The rate constant of the reaction is 10 s~ ! at 500 K]



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 56 Question Id : 70819118719 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
1

b T FBaLl logk JE7 aA+bB - cC+dD & L JV

T slope = —10000 K

%—}

= K Ul 10-45-1 EABENE/(K) e iias

e

(£ 500K) 10-5s-1 S ES)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 57 Question Id : 70819118720 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



The ionization enthalpy of Na* formation from Na,, is 495.8 k] mol I while
the electron gain enthalpy of Br is —325.0 k] mol I"Given the lattice enthalpy
of NaBr is —728.4 k] mol 1. The energy for the formation of NaBr ionic solid is
) (TR || ! k] mol L

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 57 Question Id : 70819118720 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

; o N A - s SR o S ;
(electron gain untlmlpy-’) LIl 10 Br A 4958 k] mol ! LIS 10 Na™ [\a(p)

JPETS NaBroe (s 8 728.4 K mol ! Iattice enthalpy ¢ NaBr -« —325.0 k] mol !

"|-"'J.+

-= () x 10~ 1 k] mol lé;l,-;%_,;_;ﬁ.“

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819118721 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Among the following, the number of halide(s) which is/are inert to hydrolysis is _
(A) BE; (B) SiCl (€) Pd (D) SF,

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 58 Question Id : 70819118721 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

= S n Ol IS 20 (halide(s)) J Al /Sl oL oS Soui

SF, (D) PCl;  (C) SiCl, (B) BE;  (A)

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819118722 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Consider the foﬂowmg chemical reaction.

CH = cH 1) Red hot Fe tube, 873 K W
=0 T Co, HA, Al ‘

The number of .-;pz hybridized carbon atom(s) present in the product is __

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText



Possible Answers :

5 to 5.001

Question Number : 59 Question Id : 70819118722 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

- * e -
L e | i 1 i s
e e I O U 22a

1) Red hot Fe tube, 873 K i

CH = CH =
2) CO, HC, AICI; &
e sl Sast 59F sp2 L s 2 Jb

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819118723 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Using the prf}vided information in the [ oﬂowing paper d'nmmatogram :

A =]
™SGolvent front
Be A
2cm
Beom
Ae : 4
2cm
b S T TTra——— W
/ i
7 = Base line
Spot

Fig : Papc-r chmmamgraph}-' for cnmpf}unds A and B.

the calculated Rf valueof A %1071,

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 60 Question Id : 70819118723 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

O = | 1 ef
L_"_'l-"_l.l e Ly\’“ L TET

P L Lt BT AL I8T
r s )
~~Splvent front
Be
2cm
5cm
iﬂhl
2em
v /,
4 3 Base line
Spot
L x10-1 =4 R, § A

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Mathematics Section A

Section Id : 708191788

Section Number: 5



Section type : Online

Mandatory or Optional : Mandatory
Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 80

Mark As Answered Required?: Yes
Sub-Section Number : 1
Sub-Section Id : 7081911068
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 70819118724 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Letf, ¢ :N — Nsuch that f(n+1)=f(n) + f(1) V neN and g be any arbitrary function. Which

of the following statements is NOT true ?
Options:

70819161321 If fis onto, then f(n)=n ¥ neN

70819161322, [1is one-one

70819161323, If g is onto, then fog is one-one

70819161324. If fog is one-one, then g is one-one

Question Number : 61 Question Id : 70819118724 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

¥ a
§

(arbitrary function) _;L'LE‘:,-L?’::{S:'; ¢ fn+1)=f(n)+f(1)¥neN L2 fg:N>N ._":‘_,"f

&
'] Jb"‘ &0 J | o ks 2

v oA o L) el Iyt _ -
e L~ Wi me=t L ) S -l



=

onto 'f' A1

YneN:«f(n)=n s

Options :

-~

70819161321.

(one-one) Al ! o 'f

el
=

70819161322.

1= ) e V) N V) X s
(L?I'IL‘ UI'II;.‘;| I I 'lti'q ¥ onto S I
aa - e g L !

-
——

70819161323.

e
-

ll.-"'
2 —

e
—_—

70819161324,

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Let the lines(2 — i)z = (2 + i)Z and (2 + i)z + (i — 2) - 4i =

toacircle C.If theline iz+ Z+ 1+ i=10is tangent to this

Options :
70819161325, V2

m]‘ o

<

]

70819161326.

1“”

-2
o]

70819161327.

|?i]| ’1’".

70819161328. ™

Question Number : 62 Question Id

Is Question Mandatory : No

(one-one) -l - fog /|

Question Number : 62 Question Id : 70819118725 Question Type : MCQ Option Shuffling : Yes

1) be normal

0, (here i2
circle C, then ils radius is :

: 70819118725 Question Type : MCQ Option Shuffling : Yes



Correct Marks : 4 Wrong Marks : 1

ity Codb, Qi+ (i-2T-4i=0@=-1) Q-iz=Q+iz WL 7

< Bl {17 (tangent) J1; 'C Z+Z+1+i=0/ ! (normal)
Options :
3.2
70819161325.
L
V2
70819161326.
3
2
70819161327.
3
J2
70819161328.

Question Number : 63 Question Id : 70819118726 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The integer ‘K, for which the inequality x>~ 2(3k — 1)x + 8k?~ 7 > 0 is valid for every x in R,
18

Options:

2

70819161329.

70819161330.

70819161331, 4

70819161332, U



Question Number : 63 Question Id : 70819118726 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

- -~
A = | -~ i

R 205500 x 22203k -1)x+8K2-7>0 Gl-FflL K (integer) 4
il . A

-& (valid) J#E Lt m

Options:

70819161329.

L3

70819161330.

s

70819161331.

—

70819161332 |

Question Number : 64 Question Id : 70819118727 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o Fe o] o
i ™ . - B _
If0<6,b<5,x = 2, o0, y= ). sin""bandz= Y cos?"0.sin”"¢ then :
i n=({) n=l) =0

Options :

70819161333, W = 1y)z

70819161334, W Tz=(xty)z

70819161335, “Y tyztzx=12

70819161336, W2 =4



Question Number : 64 Question Id : 70819118727 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e -~ %
- - Z cos2g 'Siﬂlndj ol Z P,inznfb - Z cos2l p T %,T
n={ - n=l =0 7
Options :
xy—z=(x+y)z
70819161333.
70819161334, ¥ H= = )=
Xy+yz+zx=z
70819161335, & Y=
70819161336, /== 1

Question Number : 65 Question Id : 70819118728 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

I

[f Rolle’s theorem holds for the function flx)= ax”+bx —4, x[1, 2] with |— | =

then ordered pair (a, b) is equal to:
Options :
70819161337. Ge

70819161338. ® =9

708191613309. 55

(=5 —8§
70819161340,



Question Number : 65 Question Id : 70819118728 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

S B 2 i | - ,r'4 y : ; = .-.'-
oY (Rolle's theorem) L8 L f’{aw =0 xell, 2] KHI}=J& ax?+bx—4 S/
Prs (a,b) (ordered pair) ._EJ:L-'s.,-_-"F..-"'.f_E:'! (holds)
Options :
08
70819161337, )
g, —8
70819161338, ")

(5] |

70819161339, {2 &)

70819161340. (

Question Number : 66 Question Id : 70819118729 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: y. 1 :
lim |14 5 . is equal to :
n— n-
k. P
Options:

70819161341, 0

B3| =

70819161342.

70819161343, ©



70819161344, 1

Question Number : 66 Question Id : 70819118729 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

il 300 2

Options :

70819161341. %

P | =

70819161342.

70819161343. ©

70819161344, |

Question Number : 67 Question Id : 70819118730 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The value of the integral

do is:

rsin.sin 20 (sin®0 + sin?0 + sinZ0) J2sin0 + 3sinZ0 + 6
.I 1 — cos2D

(where c is a constant of integration)
Options :

70819161345.



3
%[9 2sin®0 — 3sin?0 mm?-n}z i

3

'1 =
[9 ZCGSEU 3(:05'4[] 6{:052[]}2 FC

70819161346, 18

' 3
1

— [11 - 18sin20 + 9sin*0 25ﬂ1ﬁﬂ}5 b e
70819161347, 18

' 3

1

— [11 18cos?0 + 9cos?o ECGSﬁUF FC
70819161348, 18

Question Number : 67 Question Id : 70819118730 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

" U J‘sinH.sinZH (sinﬁﬂ + sinto + sinzﬂ) \/zsinqﬂ + 3sin’0 + 6 38 Thibegedl) .:L;n
1 - cos26 )
<
(P )
Options:
1 _ 3
: [9 — 25in%0 — 3sin?0 — Esinzﬁ}i +c
70819161345, 18
3

I [9 — 2c0s%0 — 3cos?e - 6::-.3523}2 + C
70819161346. 18

i 3
i3 [11-— 18sin26 + 9sint0 —-2sh1ﬁﬂ}2 45
70819161347, 1

70819161348.



3

I [11 — 18cos28 + 9coste — ECOSE'H}Z + C

18

Question Number : 68 Question Id : 70819118731 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

[ 5
The value of JIEDI:L ]:fh' , where [t] denotes the greatest integer = t, is :
-1
Options:
T

70819161349, 2

-
70819161350, -¢

e |

70819161351, ¢

e+ 1
70819161352, e

Question Number : 68 Question Id : 70819118731 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1
_;_;_-.";Tf.!:,-" =t 1.@::;_;‘:.-'-_._‘.:: [t] LUR < =t J
-1
Options :
e+ 1
70819161349, 3




70819161350, ¢

70819161351, 3¢

70819161352, ¢

Question Number : 69 Question Id : 70819118732 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If a curve passes through the origin and the slope of the tangent to it at any point (x, y) is

ra

" -4xt+yt8
x—2

, then this curve also passes through the point :

Options :

70819161353, (* °)

70819161354. 2:9)

70819161355, > %)

70819161356, (& 4)

Question Number : 69 Question Id : 70819118732 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A 2 ;
2 5 T=dxFy+B S ey R el L0 TR
Ut N 7‘ ;,'!“,'L:.,I.f.-._.,-',; {.1', \|;} n—'g_:'k_:,-,-sl:_‘_ Vir e el S bl s

F T LR

S PV R NP .



Options :
70819161353, 1 °)

(3,5)
70819161354.

70819161355, ' )

(4, 4)
70819161356.

Question Number : 70 Question Id : 70819118733 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The image of the point (3, 5) in the line x —y +1=0, lies on :

Options :

70819161357, (X
70819161358, (X271 (¥
70819161359, (X ~4)* (v
70819161360, (¥ ~2)%+(y 2

Question Number : 70 Question Id : 70819118733 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
-« (lies on) /oy (image) Sk y+1=0 k¢ (3,5) &

Options :



x—4)2+ (y+2)° =16
70819161357. ( ) { )

(x—2)%+(y—4)>=4
70819161358. :

x— 4y +(y —4)* =8
0819161359, © 0 Y

70819161360, 2T W 2)

Question Number : 71 Question Id : 70819118734 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A tangent is drawn to the parabola yzzﬁx which is perpendicular to the line 2x +y=1.
Which of the following points does NOT lie on it ?

Options :

3
70819161361. ©. 3)

70819161362. 5N

70819161363, (> 4)

(4,3)
70819161364.

Question Number : 71 Question Id : 70819118734 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. B - --.- - "
"-'fu"xv'f e S am e iy 2 +y =120 2Ll " =6x &

Options :



(0, 3)
70819161361.

70819161362, L &)

(3, 4)
70819161363.

(4,3)
70819161364.

Question Number : 72 Question Id : 70819118735 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T 2 2 2

< X 1

If the curves, & | yl_ = 1 and T | ’I’E = 1 intersect each other at an angle of 90°, then
a )

which of the following relations is TRUE ?

Options :

70819161365, @ Tb=ctd

70819161366, @ b=c—d

c+d
b

ab =
70819161367. i

70819161368, @ ¢=btd

Question Number : 72 Question Id : 70819118735 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



- i R A i Py 7
[osar i B S n b i€ 90° e s | — + e 1 4l —+ == 1 (curves) &./f
3 ; C a

+ 520 J i
(Wi Vgl (W NP T

-
< (relation) kbl

Options :

at+b=c+d
70819161365.

70819161366.

70819161367.

70819161368,

Question Number : 73 Question Id : 70819118736 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let « be the angle between the lines whose direction cosines satisfy the equations
l4+m-n=0and I2+m2-n2=0. Then the value of sin*a + costa is :

Options :

w|u

708191613609.

ool W

70819161370.

R =

70819161371.

W | 03

70819161372.



Question Number : 73 Question Id : 70819118736 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

| - ; - A Y ; o s il
s+ m-n=0 il {direction cosines)es il e ibnl b¥'a' &S/

ol
= |.*‘.2

S = (0 sinfa+ costa L /Y P mP-n?=0

Options:

oo |

708191613609.

oo | ua

70819161370.

R | =

70819161371.

W | 3

70819161372.

Question Number : 74 Question Id : 70819118737 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The equation of the line through the point (0, 1, 2) and perpendicular to the line

x—4. ¥l _ g=1.

= 15
2 3 2
Options :
.i _y 1 =z 2
70819161373, 3 4 3

70819161374, 9 4 3

70819161375.



Question Number : 74 Question Id : 70819118737 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. T g v Feal Wk g 1
- el il sie (0,1, 2) Lialyyly ) = 3 = E; L3

Options :

£ = L. g=—12
70819161373, 4 -3

*F =1 . z=2
70819161374, 4 3

X _¥y- 1 z— 2

3 -4 3
70819161375.

. ¥- 1 gl

3 4 3

70819161376. -

Question Number : 75 Question Id : 70819118738 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. 1
When a missile is fired from a ship, the probability that itis intercepted is - and the probability

that the missile hits the target, given that it is not intercepted, is I [f three missiles are fired

independently from the ship, then the probability that all three hit the target, is :



Options :

3 .

70819161377.

o0 | ==

70819161378.

| W

70819161379.

.4-_,.|-,,.;'

70819161380.

Question Number : 75 Question Id : 70819118738 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

i LR ™ "l
=)

B s S M of o I S
feldde il T JPI0 (intercepted) & k& - € (missile) Jlrotle b7

(o, LT [« i A g ¥ o bafuf =7 . ) o e .. L B I
WIp I uUs e E N ks v Wil g 2 Qe s ST i b f 4 J
-

Options:

5]
-q|‘—‘

70819161377.

oo | =

70819161378.

oo | W

70819161379.

W | 2

70819161380.



Question Number : 76 Question Id : 70819118739 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The coefficients a, b and ¢ of the quadratic equation, ax? + bx + ¢ =0 are obtained by throwing
a dice three times. The probability that this equation has equal roots is :

Options :

70819161381, 6

70819161382, 54

70819161383.

70819161384, 216

Question Number : 76 Question Id : 70819118739 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ey
A

[ + SO T ‘rn " 7 i 7
(dice) ALVEL L FCL U ¢ o bea (coefficients) o A% ax?+br+c=0 e hibaGm

LT i, R e
i GWIpL sl (roots) sedl ol 1AV B 22k

Options :

70819161381, 36

70819161382.



1
70819161383, /2

70819161384, 210

Question Number : 77 Question Id : 70819118740 Question Type
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

: MCQ Option Shuffling : Yes

All possible values of 6 [0, 27| for which sin 20 + tan 26 > 0 lie in :

Options :
=) =
g o
70819161385, * </ )
l'{[] ’.r"| l-"'_,._r Jr \| 1.“-—,"“' |
el i CUY e R
70819161386. / ) ]
I ) Fro: iy p 7\
> T 3w b
70819161387.l EJ y [1 —lJ = 6 J

|u,§3]LJ [gﬁ

%N A BN fse
70819161388, = 4 22 4

;| U |".r, T| U |

Question Number : 77 Question Id : 70819118740 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

S SESPEL e [0,2w] &L sin20+tan20 >0
Options :

i-\‘ 4 3]“‘
[ﬂ, IJ 1 [TI’; =
. 2 !

70819161385.



( ) : (3 . f3q 1l
I[]',- 1‘ ) |E, T| el lere 6 |
70819161386. * 2 % d = d
(@) (w 3wy (_ 7w
L3332
70819161387. * / # A /
[ ) (3 ( 517 ) (3 7m
U,——JEJ |—3 =251 & Lo o M)
2 4 ) \ 2 4 )

70819161388,

Question Number : 78 Question Id : 70819118741 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The total number of positive integral solutions (x, v, z) such that xyz=24 is :
Options :

70819161389, 24

70819161390, 20

70819161391, ~©

70819161392. e

Question Number : 78 Question Id : 70819118741 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

o
1 - 5 n -

| > - f i : : =y f
wyz=24 f‘_.-.__,"-.f_ P ipnslm-'v integral solutions) J"_,l':' =*e (X, ¥, 2)

-

-

Options :



12
g

708191613809.

30
70819161390.

36
70819161391.

70819161392.

Question Number : 79 Question Id : 70819118742 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A man is observing, from the top of a tower, a boat speeding towards the tower from a
certain point A, with uniform speed. At that point, angle of depression of the boat with the
man’s eye is 30° (Ignore man’s height). After sailing for 20 seconds, towards the base of the
tower (which is at the level of water), the boat has reached a point B, where the angle of
depression is 45°. Then the time taken (in seconds) by the boat from B to reach the base of the
tower 1s :

Options :

70819161393, 10

10(/3
70819161394, 10¥3 + 1)

70819161395, 103

70819161396, 101¥3 — 1)

Question Number : 79 Question Id : 70819118742 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



s [ il ": ; o | * Fow o [ L

MUV (boat) (§ PO Pl A0l A o)
i o : '. ¥ &
N TATENN N X 0 . " Pl - o

A0 00211--30° (Angle of depression) »lipsrh& < 2 100 e g B (Ul

- & i ]

e sl s s ), &L i i . o
=B bc 45° ligstr Ui - Qe B B § (e ML (L 2) bl LE 2 20 § &=

y A .

K (e 2) = WL L Lyl it

Options :

70819161393, 1V

10(/3 + 1)
70819161394.

70819161395, 1043

10(v/3 — 1)
70819161396.

Question Number : 80 Question Id : 70819118743 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
The statement A — (B — A) is equivalent to :
Options :

70819161397. ©* = (A= B)

70819161398, & — (A v B)

70819161399, & —7 (A A B)

70819161400, ** 7 (A< B)

Question Number : 80 Question Id : 70819118743 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
< (equivalent) $slsLl
Options :
A—=(A—=DB)
70819161397.

70819161398, ‘* — (A Vv B)

70819161399, * — (A~ B)

A—>(A<B)
70819161400.

A—=(B—A) Yk

Mathematics Section B

Section Id :

Section Number :
Section type :
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required? :
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Sub-Section Id :

Question Shuffling Allowed :

Question Number : 81 Question Id : 70819118744 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

708191789
6

Online
Mandatory
10

5

20

Yes

1
7081911069

Yes



f”\-,

0 tan : | a b
If A= o) *“/| and (I, +A) [,-A)"!= {b f w, then 13(a®+b?) is equal to
tan 0 ' '

3.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 81 Question Id : 70819118744 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

a —-b
1 13(a® +b?) y (L+A) ([,-A)” l = [b a ] o A= 0 7

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819118745 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



=
(]

R
(]
it

Let A= (|, where x, y and z are real numbers such that x+y+z > 0 and xyz=2.

ry
If AE:IE, then the value of 4 l'ﬂ r2is

[a]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 82 Question Id : 70819118745 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Xy 2
A: IU Z X .'_-.:v:- r':j
_—W\/
zZ X Y]
- . y 3 - 9 5 s i =t
ot () X4 \I_.f'%'f 2 .%L-=I:g 4 .1'\|_.f.:=2 Mrx+y+z> 0 JiL/ Y (3Ll (Jo ol ¥, .1',‘;_,1.;3

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 83 Question Id : 70819118746 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



If the system of equations

kx 4 Y =
3x y 2z=2
2x Ey 47 =1

has infinitely many solutions, then kisequalto ___ .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 83 Question Id :

Correct Marks : 4 Wrong Marks : 0

e L k ¢ (inlini[vl_\f many solutions) J'}e,.:"'_'.i_

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

70819118746 Question Type : SA

2x 2y

-

Question Number : 84 Question Id : 70819118747 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



The total number of numbers, lying between 100 and 1000 that can be formed with the digits
1,2,3,4,5,1if the repetition of digits is not allowed and numbers are divisible by either 3 or 5,
s

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 84 Question Id : 70819118747 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

7 LS s el A s ol 1000 1100 Z/J6185,4,3,2,1 st

# o . o 5 L
¢l

S T . Elr
e DU 3 sl Je sl i 3702

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 85 Question Id : 70819118748 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let Al, Az, Aa, ..... be squares such that for each n=1, the length of the side of A" equals the
length of diagonal of AM I If the length of Al is 12 ¢m, then the smallest value of n for

which area of A, is less than one,is .
Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 85 Question Id : 70819118748 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

u ] | fi lLﬁ:;'l"' 1 F o b o ; R i /5 -4
S A]H_[ WHO U = "’\‘n ¢ nz1Jyi /2! fsqmucs) & A[J .'F\} A:%, - Y
e > = o ' = 3 1 i F -~ ] 1 :

it o ed e nYe 12cm QU0 Ay Al sle QW0 (diagonal)

- g _\\
- e K
e | A

[ ==

o
|

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 86 Question Id : 70819118749 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The number of points, at which the function f(x)=|2x+1/-3x + 2|4 r2+x-2,xcRis
not differentiable, is

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001



Question Number : 86 Question Id : 70819118749 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

U'EE f;l,f{_r}= Ix+1|-3x+2+x2+x-2, xe R _;h’bi.;:l._.'ir_‘-f;- I d#;:&
- (not differentiable)

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 87 Question Id : 70819118750 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let f(x) be a polynomial of degree 6 in x, in which the coefficient of x° is unity and it has

f(x)

extrema at x=-1and x=1If lim —
=0 y

=1,then5-f(2)isequalto .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 87 Question Id : 70819118750 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



x 1 W by 3 I .".. 4 . i st :".
#l-< (unity) 01 (coefficient) oz 2§ 2® LU 22 (degree) 20 6 € x f(x) &7

9

3 /1. (extrema) b/l x=1 slx= -1

- e

e 5-f(2) ¢ lim

=0 x
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 88 Question Id : 70819118751 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The graphs of sine and cosine functions, intersect each other at a number of points and
between two consecutive points of intersection, the two graphs enclose the same area A.
Then A'isequalto

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 88 Question Id : 70819118751 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

" =
- e

R b Wt BY . =i # o For oy : :
LB et/ (intersect) C,‘;_-:-w.-. radre nl fgmplw) /8 cosine 2+ sine

= -

gl At Jt (enclose) 2 # A _.;";.,'La:._.:l,"k_,' dnellnd
Response Type : Numeric
Evaluation Required For SA : Yes

Show Word Count : Yes



Answers Type : Range
Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 89 Question Id : 70819118752 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
The locus of the point of intersection of the lines (/3 ) kx A ky 443 =0 and

ﬁx Y 4( \,ﬁ] k =0 is a conic, whose soceminicily 8 . .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001

Question Number : 89 Question Id : 70819118752 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
.:.Is',.«-,f (locus) ._,:.:_,..::'J.Uz;".:_ Jx- = 4(v3) k=0 , (V3)kr + Jaj = 43=0 1P

et eccentricity §_/l< (conic)(! /

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



Question Number : 90 Question Id : 70819118753 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

—

3 A A A = A A — A A A
let a=i+2j-k b=i-jand ¢c =i - j— k be three given vectors. If r isa

— e - = - =

vector such thatr X a = c x aandr- b =0, then r- a isequalto .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5to 5.001

Question Number : 90 Question Id : 70819118753 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

- P T AA yOOA A A A A "
Ses ¢ At (vectors) F ke c=i—j-ka# b=i-ja=i+2j-kE&J/
b2 —% —},.I—} ¥ b — —> o - |

R r* a r-b=0 "rxa:uxaf--’,‘—uf"

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

5 to 5.001



